Translation: Key Concepts 20

Q/ How does English differ from Arabic concerning gender system?

A/ English does not have gender for second person pronouns like Arabic s </

<iland does not have gender for _xes/ g 4Ll

The following English example translated into Arabic illustrates the kind of

problems gender can pose in translation:
- Shampoo the hair with a mild WELLA-SHAMPOO and lightly towel dry.
Ala dadie daul g Jasy JSGy ) Chiag &5 Calalall "D 5" gualldy el Jusy
Note: The translator uses passive voice to avoid using gender because he does
not want to restrict the sale of the shampoo to men or women.
The secretary spared no effort in organizing the office.
Sl a5 g 3 Sl Al

In the example above, the translator uses feminine gender '3 s S\ despite the
fact that 'the secretary' can be feminine or masculine. This is because this job is

often occupied by women.
Person
Person is the category of person relates to the notion of participants roles.
Q/ Compare between English and Arabic as far as person system is concerned?

A/ In English we have first person (I, we) second Person, (you) and third person
(he/shefit/they) in Arabic the person system has both a gender and number

dimension as in " Gl ¢ Al ¢ Ga "
Q/ How is person distinction reflexed?

A/ Some languages unlike English have some formality/politeness dimension

in their person system, in French for example: vous as opposed to tu.

1.1. Translation of Verb ‘BE’ (i.e. ‘am, is ,are/was, were/be, been’):
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Problem 1: Literal translation of ‘am, is, are’:

When these verbs are the main and only verbs in the sentence, they are
translated by many students literally into (2s5.), which is a poor translation:

e.g.

1. “I am a student™: LW 05T )
2. “She 1s kind”’: (ab 055 )
3. “You are a father”: (L 055 =)

Solution: 'am, is, are’ can be omitted altogether here, thus changing the
English verbal sentences into Arabic nominal ones: i.e. into a topic and a
comment .=, l.z) €ach. e.g.

1. “I am a student™: (S )

2. “She is kind”: (ab )

3. “You are a father™: (of <)

a. The present progressive:

1. “I am leaving now: (oW Tystas/ jalel 05T )

2. “He is eating an apple”: (3w T/ 5T, 055 52)

3. “We are speaking English”: (3 pelSan LS 0,5 1 4)
The good versions of these examples drop verb ‘be’, as follows:

1. “T am leaving now”: OV sl UT/0Y1 5T (UT))

2. “He is eating an apple™: (il ST ST 50)

3. “We are speaking English”: (B Y0 5alSan) S ,4)

b. The present passive voice:

1. “T am given another chance™: (5] as ast 0557 )

2. “She 1s invited to the party”: (bl ) o 055 2)

3. “They are put in the same situation™: (4 BN 3(ns250)0sm5 O35S o2)

The more acceptable versions of Arabic translation dispose of verb ‘be’:
1. “I am given another chance”: (sl o ansf Lasl (L)
2. “She is invited to the party”: (alidl L) o5 )

3. “They are put in the same situation”: (st L) 2(0585050) 0305 02)



